

Derivation of Green's function of a spin Calogero–Sutherland model by Uglov's method

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

2009 J. Phys. A: Math. Theor. 42 289801

(<http://iopscience.iop.org/1751-8121/42/28/289801>)

View [the table of contents for this issue](#), or go to the [journal homepage](#) for more

Download details:

IP Address: 171.66.16.154

The article was downloaded on 03/06/2010 at 07:57

Please note that [terms and conditions apply](#).

Corrigendum

Derivation of Green's function of a spin Calogero–Sutherland model by Uglov's method

Ryota Nakai and Yusuke Kato 2009 *J. Phys. A: Math. Theor.* **42** 025209

After publication, we became aware of the mistakes in the norm of the \mathfrak{gl}_2 -Jack polynomials. The expression of the norm depends on the number of particles, and we have used an inappropriate one in our paper.

The norm (73)

$$\{P_\mu^{(2\lambda+1)}, P_\mu^{(2\lambda+1)}\}_{N,\lambda} = c_N^{(2\lambda+1,2)} \prod_{s \in C_2(\mu)} \frac{a'(s) + (2\lambda + 1)(N - l'(s))}{a'(s) + 1 + (2\lambda + 1)(N - l'(s) - 1)} \\ \times \prod_{s \in H_2(\mu)} \frac{a(s) + 1 + (2\lambda + 1)l(s)}{a(s) + (2\lambda + 1)(l(s) + 1)}$$

should be replaced by

$$\{P_\mu^{(2\lambda+1)}, P_\mu^{(2\lambda+1)}\}_{N,\lambda} = c_N^{(2\lambda+1,2)} \prod_{\substack{s \in C_2(\mu)(N:\text{even}) \\ s \in D(\mu) \setminus C_2(\mu)(N:\text{odd})}} \frac{a'(s) + (2\lambda + 1)(N - l'(s))}{a'(s) + 1 + (2\lambda + 1)(N - l'(s) - 1)} \\ \times \prod_{s \in H_2(\mu)} \frac{a(s) + 1 + (2\lambda + 1)l(s)}{a(s) + (2\lambda + 1)(l(s) + 1)}.$$

Following this modification, equation (78)

$$Y_\mu(r) \equiv \prod_{s \in C_2(\mu)} (\alpha a'(s) + r + (N - 1 - l'(s))/2)$$

should be replaced by

$$Y_\mu(r) \equiv \prod_{s \in D(\mu) \setminus C_2(\mu)} (\alpha a'(s) + r + (N - 1 - l'(s))/2),$$

equation (95)

$$Y_\mu(r) = \prod_{j=1}^{2\lambda+1} \frac{\Gamma[\alpha + r + N/2 + (j - 1)/(2\lambda + 1)]}{\Gamma[(\tilde{\mu}'_0 - \tilde{\mu}'_j + 1 + \delta_{\sigma_0 \sigma_j})/2 - \alpha + r]}$$

should be replaced by

$$Y_\mu(r) = \prod_{j=1}^{2\lambda+1} \frac{\Gamma[r + N/2 + (j - 1)/(2\lambda + 1)]}{\Gamma[(\tilde{\mu}'_0 - \tilde{\mu}'_j + 2 - \delta_{\sigma_0 \sigma_j})/2 - \alpha + r]},$$

equation (98)

$$K_\lambda(N) = \frac{\Gamma((\lambda + 1/2)N - \lambda) \Gamma(\lambda + 1) (\Gamma[(\lambda + 1)/(2\lambda + 1)])^{2\lambda+1}}{\Gamma((\lambda + 1/2)N - \lambda) \prod_{j=1}^{2\lambda+1} (\Gamma[j/(2\lambda + 1)])^2} \\ \times \prod_{j=1}^{2\lambda+1} \frac{\Gamma[j/(2\lambda + 1) + N/2 - \alpha]}{\Gamma[j/(2\lambda + 1) + N/2 - 1/2]}$$

should be replaced by

$$K_\lambda(N) = \frac{\Gamma((\lambda + 1/2)N - \lambda)\Gamma(\lambda + 1) (\Gamma[(\lambda + 1)/(2\lambda + 1)])^{2\lambda+1}}{\Gamma((\lambda + 1/2)N) \prod_{j=1}^{2\lambda+1} (\Gamma[j/(2\lambda + 1)])^2} \\ \times \prod_{j=1}^{2\lambda+1} \frac{\Gamma[j/(2\lambda + 1) + N/2 - 2\alpha]}{\Gamma[j/(2\lambda + 1) + N/2 - \alpha - 1/2]},$$

and finally equation (99)

$$F(\{\tilde{\mu}'_j, \sigma_j\}) = \prod_{j=1}^{2\lambda+1} \frac{\Gamma[(\tilde{\mu}'_0 - \tilde{\mu}'_j + \delta_{\sigma_j\sigma_0})/2]}{\Gamma[(\tilde{\mu}'_0 - \tilde{\mu}'_j + 1 + \delta_{\sigma_j\sigma_0})/2 - \alpha]} \\ \times \prod_{j=1}^{2\lambda+1} \frac{\Gamma[(\tilde{\mu}'_j - \tilde{\mu}'_{2\lambda+2} + 1 - \delta_{\sigma_j\sigma_{2\lambda+2}})/2]}{\Gamma[(\tilde{\mu}'_j - \tilde{\mu}'_{2\lambda+2} + 1 - \delta_{\sigma_j\sigma_{2\lambda+2}})/2 + 1/2 - \alpha]} \prod_{1 \leq j < k \leq 2\lambda+1} \\ \times \frac{\Gamma[(\tilde{\mu}'_j - \tilde{\mu}'_k + \delta_{\sigma_j\sigma_k})/2 + \alpha]\Gamma[(\tilde{\mu}'_j - \tilde{\mu}'_k + \delta_{\sigma_j\sigma_k})/2 + 1/2]}{\Gamma[(\tilde{\mu}'_j - \tilde{\mu}'_k - \delta_{\sigma_j,\sigma_k})/2 + 1/2]\Gamma[(\tilde{\mu}'_j - \tilde{\mu}'_k - \delta_{\sigma_j,\sigma_k})/2 + 1 - \alpha]}$$

should be replaced by

$$F(\{\tilde{\mu}'_j, \sigma_j\}) = \prod_{j=1}^{2\lambda+1} \prod_{k=0,2\lambda+2} \frac{\Gamma[(|\tilde{\mu}'_j - \tilde{\mu}'_k| + 1 - \delta_{\sigma_j\sigma_k})/2]}{\Gamma[(|\tilde{\mu}'_j - \tilde{\mu}'_k| + 1 - \delta_{\sigma_j\sigma_k})/2 + 1/2 - \alpha]} \prod_{1 \leq j < k \leq 2\lambda+1} \\ \times \frac{\Gamma[(\tilde{\mu}'_j - \tilde{\mu}'_k + \delta_{\sigma_j\sigma_k})/2 + \alpha]\Gamma[(\tilde{\mu}'_j - \tilde{\mu}'_k + \delta_{\sigma_j\sigma_k})/2 + 1/2]}{\Gamma[(\tilde{\mu}'_j - \tilde{\mu}'_k - \delta_{\sigma_j,\sigma_k})/2 + 1/2]\Gamma[(\tilde{\mu}'_j - \tilde{\mu}'_k - \delta_{\sigma_j,\sigma_k})/2 + 1 - \alpha]}.$$

In appendix B, due to the mistake in the use of the symbol, equation (B.21)

$$\prod_{j \in \{1,3,\dots,2\lambda+1\}} \Gamma[1 - \alpha(j - 1)] \prod_{j \in \{2,4,\dots,2\lambda\}} \Gamma[1/2 - \alpha(j - 1)] = \prod_{j=1}^{2\lambda+1} \Gamma[j/(2\lambda + 1)]$$

should be replaced by

$$\prod_{j \in \{1,3,\dots,2\lambda+1\}} \Gamma[1 - \alpha(j - 1)] \prod_{j \in \{2,4,\dots,2\lambda\}} \Gamma[1/2 - \alpha(j - 1)] = \prod_{j=1}^{2\lambda+1} \Gamma[j/(2\lambda + 1)].$$

The derivation of $Y_\mu(r)$ should also be modified as follows. The sentences just before equation (B.23)

When $(i, j) \in C_2(\mu)$, both i and j are odd or even. The maximum value i_{\max} of i in the j th column is given by $i_{\max} = \mu'_j - \delta_{\sigma_j\sigma_0}$.

should be replaced by

When $(i, j) \in D(\mu) \setminus C_2(\mu)$, $(i, j) \in (\text{even, odd})$ or (odd, even) . The maximum value i_{\max} of i in the j th column is given by $i_{\max} = \mu'_j - 1 + \delta_{\sigma_j\sigma_0}$.

The relation between (B.23), (B.24) and j should be changed to (B.23) for even j and (B.24) for odd j , and the result (B.25)

$$\prod_{j \in \{1,3,\dots,2\lambda+1\}} \Gamma[\alpha(j - 1) + r + (N + 1)/2] \prod_{j \in \{2,4,\dots,2\lambda\}} \Gamma[\alpha(j - 1) + r + N/2] \\ = \prod_{j=1}^{2\lambda+1} \Gamma[\alpha + r + N/2 + (j - 1)/(2\lambda + 1)]$$

should be replaced by

$$\begin{aligned} & \prod_{j \in \{2, 4, \dots, 2\lambda\}} \Gamma[\alpha(j-1) + r + (N+1)/2] \prod_{j \in \{1, 3, \dots, 2\lambda+1\}} \Gamma[\alpha(j-1) + r + N/2] \\ &= \prod_{j=1}^{2\lambda+1} \Gamma[r + N/2 + (j-1)/(2\lambda+1)]. \end{aligned}$$